Mcuxonorunsa

Bonpoc VlHd)O

YBa)kKaeMble y4acTHUKK!
OnuMnunagHoe 3agaHne rno HarnpasaeHuio «[ICUXoNorns» COCTOUT N3 ABYX YacTel:
MHBapuaHTHasA YacTb NpeacTassieHa 3aaaHnamm Ne 11 2. UX HY)KHO BbINOSIHUTL BCEM YHaCTHUKAM.

BapuaTUBHaA YacTb pa3jesieHa Ha Tpeku:

TpeKk «KOrHUTUBHbIE HAYKN N TEXHONOMW»: 3a8aHnUsa Ne 3 n 4

o Tpek «KoHCyfbTaTuUBHasA Nncuxonorus. NepcoHonorusa»: 3agaHna Ne 5 v 6
Tpek «[1o3nTmnBHaA Ncmxonormnsa»: 3agaHna Ne 7 mn 8

Tpek «[MpuknagHas counanbHas ncmxonormsa»: 3agaHusa Ne 9 n 10

Bbl MOXKETe COCPeAOTONNTLCSA Ha BbINOMHEHUN 3aaHuni 0AHOro Tpeka (4Tobbl NpeTeHaoBaTh Ha
cTaTtyc aunnomanTa l, i, 1l cTeneHn) nau nocTapaTbCs pewmnTb HanbosbLlee YACNO 3a4ay BHe
3aBUCUMOCTHN OT TPEKOB, 4TOOLI NpeTeHA0BaTb Ha CTaTyC MedanucTa.

Ncnonb3oBaHne HEPHOBNKOB, CTOPOHHUX peCypCOB 1 CMpaBO4YHbIX MaTepKaoB CTPOro 3anpeweHo.

Bepwum B Baww ycnex!

Bonpoc]
Bann: 25,00

WHBapnaHTHas 4acTb. 9TO 3a4aHNe HYXHO BbIMNOJIHNTb BCEM yHaCTHUKaM
3apaHuel.

Mpo4nTanTe NnpeacTaBieHHbIN NPeperncTPaLoOHHbIN MPOTOKON (preregistration protocol)
nccnepnoaHus. NpennoXxxuTe yayylleHnsa nccnefoBaHns B HacTu ero MeTo40B, An3anHa nim
nccnefoBaTeNbCKUX Npouenyp. YKaXxuTe, C KaKUMU OFPaHUYEHUSMU MOXKET CTOJIKHYTbCA AaHHoe
nccnefoBaHne 1 NpensioxKnTe BapuaHThl, KAK BO3MOXXHO NMpeoaosieTb Kakne-anbo n3 atux
OrpaHNYeHnn.

GROUPS AND GENERATIONS: COVID UNCERTAINTY
STUDY INFORMATION
Hypotheses

Hypothesis: Priming participants with uncertainty (through a personal narrative paradigm) will
report stronger identification with their own generation when compared to a control and certainty
condition.

DESIGN PLAN
Study type

Experiment. A researcher randomly assigns treatments to study subjects, this includes field or lab
experiments. This is also known as an intervention experiment and includes randomized controlled
trials.
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[Ncuxonorusa
Study design

The study is a one-way between-subjects experiment with two levels (high uncertainty, low
uncertainty). After providing consent, participants are asked to read two randomly selected articles
either about COVID-19 (high uncertainty) or about neutral topics (low uncertainty). After each
article, participants answer some questions about it (e.g., how uncertain it makes them feel, whether
it was well written). Participants are then told what generation they belong to (based on their self-
reported age) and are asked to respond to several items measuring their identification with that
generation (e.g, "How much do you like your generation?"). For exploratory purposes, we included
two scales measuring perceptions and experience with the coronavirus (COVID-19) pandemic.
Participants then read a debriefing statement before completing the study.

Randomization

Online software will randomly assign participants to one of the three levels of the condition variable
automatically.

Data collection procedures

Participants will be American adults recruited online through the Internet. Participants will be eligible
if they are at least 18 years of age. Participants will be considered for exclusion for failing attention
and manipulation check items, failing to follow instructions during the writing task, or showing
evidence of random responding on the dependent variables.

Sample size

In our own previous work, we observed an effect size of d = .30 between the certainty and
uncertainty conditions on the focal outcome variable. G*Power determined that a sample size of
360 is needed to detect this effect with 80% power (alpha = .05).

VARIABLES
Manipulated variables
Uncertainty will be manipulated as described previously.
Measured variables

The focal dependent variable is generational identification. We will also measure perceptions and
experiences with the coronavirus pandemic and demographic information. An ‘article uncertainty’
measure will serve as a manipulation check or mediator.

ANALYSIS PLAN
Statistical models

We will test for the main effect of condition with a independent samples t-test. We will use
regression to test for potential moderators (e.g. salience of the coronavirus, age) of condition on
generational identification, but these analyses will be largely exploratory. We may also consider
conducting a mediation analysis with article uncertainty as the mediator variable between
condition and generational identification.

Bonpoc 2
Bann: 25,00

WNHBapnaHTHas 4aCcTb. TO 3a4aHNe HYXHO BbIMOJIHUTb BCEM y4aCTHUKaM
3apaHue 2.
OTKpoOWUTE U Npo4UTalTe CTaThblo
1) MpennoXxuTe Ha OCHOBE Hee HeCKOJIbKO UCC/IeA0BaTENIbCKMX NPo6aeM B 061aCcTh NCUXONIOMUN.

2) BbibepuTe 04HY 13 NCCeoBaTeNbCKMX NPobeM U NpeasioxuTe ee passepHyToe 060CHOBaHMeE
1 nnaH paspaboTku.
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3agaHue rno Tpeky «KOrHUTUBHBIE HAYKN M TEXHOJIOM MU ». DTO 3aJaHNE YYUNTbIBAETCS B PEVTUHIE 10
Tpeky «KOrHUTUBHbIE HAyKU N TEXHOJIOM N » U B PEUTUHIE MeAaIMCTOB

Task 3

Please read the introduction, methods and results sections of the short research article that is
provided. It is entitled «Transcranial stimulation of alpha oscillations up-regulates the default mode
network» (2022). Authors, abstract, conclusions and references are not provided.

(To follow the link, right-click on it and open the link in a new tab/in a new window,)

Your task is to compose an abstract of 200-250 words. The abstract should include (a) the
motivation of the study, (b) the main hypothesis, (c) key aspects of the experimental design, (d)
main findings and (c) conclusions.

Bonpoc 4
bann: 25,00

3apnaHwue no TPEKY «KOrHUTUBHbIE HayKWn N TEXHOJIOT 1 ». 3710 3a4aHne Y4YnUTbIBAETCA B peflTMHl'e rno
TPEKY «KOrHUTUBHbIE HayKun n TeXHOJZIOrnn» n B pEVITMHFe MenasincTtoB

Task 4

Consider comparing the performance of tea-drinkers and coffee-drinkers (drink: tea or coffee) in 4
cognitive tasks. There are two additional independent variables: gender (male or female) and
handedness (left or right). Assume that none of the 3 independent variables (drink, gender, and
handedness) and none of their interactions affect the performance. The results of this experiment
will be analyzed by using a 3-way ANOVA for each task. Note that the probability of type-1 errors of
the individual effects in the ANOVAs are assumed to be independent from one another for simplicity.

Compute the probability that any of the effects of the drink will be statistically significant (p < 0.05)
for any of the cognitive tasks, specifically, the main effect of the drink and the interaction of the drink
with either or both of the other independent variables (gender and/or handedness). In other words,
compute the probability that, at least, one of these effects will be significant (p < 0.05).

Bonpoc 5
Bann: 30,00

3anaHue rno Tpeky «KOHCYyIbTaTUBHAas rncuxosiorus. [lepcoHosorns». 1o 3agaHne y4YnTbliBaeTCs B
penTuHre rno Tpeky «KoHCy/IbTaTUBHas ncuxosaorns. [lepcoHonornsi» u B peNTuHre MegaancTos

3apnaHue 5.

MXKeHuwmHa, T, 25 neT, obpaTmnnack rno noBoLY «CUHAPOMA Camo3BaHUa». MOCTOSHHO KPUTUKYET cebs,
CpaBHMBAET C KoJileramMmun. He 3aMeyvaeT, eciv YTO-TO MoJIy4aeTcs y Heé XOpoLLOo, Uian NPUNncLIBaeT
3T0 BHELHMM 06CTOATENLCTBAM. YaCTo NUCMLITLIBAET «CTPAX NMPOBasia» 1U3-3a Yero e CJI0XKHO
MPUCTYNUTb K CBOMM 3a[a4aM Uiun nposBuTb MHULIMATUBY B paboTe.

MpOET 0T cebs 3aMeTHOro KapbepPHOro PocTa, 04HAKO CaMa He CYUTAET 3TW OXXULaHUS
3aBbILLEHHbLIMU.
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MaTb onMncbiBaeT Kak XOPOLLUYLO, 0AHaKO B becefe BbIsICHAETCS, 4TO Ta bblla CKopee OTCTPaHEHHON
n TpeboBaTenbHoW. OTel B BOCMMTaHUW y4acTBOBaJ MaJio, MpeanoYynTas CeEMbe aJIkorosb U Apy3en.
B cembe B LesioMm T. 3aMevann Tosibko 6naronapsa eé OCTMXKEHUAM, XOTS U HE CYMTanm ocobeHHOo
crnocobHon.

OnuvwunTe Bawwm coobparkeHUs 0 NPMPOLE COCTOSAHMS T. 1 BO3MOXXHbIN NMOAXOL K ee
NCUX0NOrNYECKOMY COMPOBOXKAEHMIO C MO3ULIIM OJHOFO U3 TPEX NOAXOMO0B: 1) TPaH3aKTHO-
aHaANNTNYECKOrO, 2) 3K3NCTEHLINAIbHO-aHaNNTNYECKOro; 3) YeNI0BeKOLIEHTPUPOBAHHONO.

Bonpoc 6
Bann: 20,00

3anaHue rno Tpeky «KOHCYIbTaTUBHAas rcuxosiorus. [lepcoHos1orns». 1o 3agaHne y4YnTbliBaeTCs B
pevnTuHre rno Tpeky «KoOHCYy/IbTaTUBHas ncuxosaoruns. [lepcoHonornsi» u B penTuHre MegaancTos

3anpaHue 6.

[danTe ncnxosnornyeckoe onpenesieHne «0THOLWEHNS IMYHOCTY K cebe». YTO 3TO 3HAYUT - «<BCTaTb B

oTHoweHne K cebe»? ONUINTE KOHCTPYKTUBHbIE U AECTPYKTUBHbIE (DOPMbI OTHOLLEHWS JINYHOCTMW
K cebe.

Bonpoc 7
Bann: 30,00

3anaHwue no TPEKY «103UTUBHAaS NMCUXOJIOrUA». ITO 3a4aHne Y4YnTbiBAETCA B peVITI/IHI’e rno
TPEKY «[1O3UTUBHAaSA NCUX0JI0rNs» U B pEVITMHFe MenasncTtos

3apaHue 7.
MpoyuTanTe NPUBEAEHHYIO CTaThIO.
BbinonHuTe cnepgyrouimne 3afgaHnAa Ha PyCCKOM A3blKe.

1) HanuwmTe aHHOTaLMIO MPMBEAEHHOI CTaTbi 06beMoM He 6onee 300 csios (15 6annos
MaKCUMyM).

2) MNpennoXxuTe CBOV AW3alH NCCNe0BaHNA Ha TeMy cTaTbu. ChopMynupyinTe
nccnepoBaTenbCkuii Bonpoc (rmnoTessl) nccnefosaHna. OnuLINTe BLIGOPKY U METOAbI
nccneposaHua. ONuLIKTe NpeanofiaraeMble pesysbTaThl U orpaHuyeHns uccnenosanmns (15 6annos
MaKCUMyM).

Bonpoc 8
Bann: 20,00

3agaHue rno TpeKy «103UNTUBHAasA NMCUXOJ10r NsI». 2710 3a4aHue Y4nNTbIBAE€TCA B p617ITI/IHI'e rno
Tpeky «[103nTUBHasA NCUXOJI0rNs» N B peﬁTMHFe MenasimcTtoB

3apaHue 8.

BbINosIHUTE JaHHOe 3ajaHne Ha PYCCKOM si3blke. [poynTanTe Kenc. OnnwunTe, Kakme
nccneposaTensckue (3MnMprYeckne) MeToabl U TeopeTNYecKne NOAX0Abl NCUXONOr UM IMHHOCTY 1
NO3NTUBHOWN NCUXONOT N Bbl MOr /X 6bl NIPMMEHUTL B AaHHOM ciy4vae? [NpeanoXxute ceou

Onumnuana CTyAeHTOB U BbIMYCKHUKOB «Bbicwias fivra» 2021-2022 yu.r.


https://www.hse.ru/mirror/pubs/share/601450251

MNcunxonorusa
pekoMeHAaunmn ons oupeKkTopa KOMMaHum n cneunaancTos.
Kenc
B Hay4Hyto nabopaToputo obpaTnacsa KopnopaTUBHbIA 3aKa34uK. NpeactaBuTenn gupekumnm no
yrpaBJieHNIO MePCOHaIOM KOMMNaHUK xoTenn 6bl paszpaboTaTb 4ENCTBEHHYIO MPOrpaMMy Mo
MOBLILLUEHMNIO CTPECCOYCTONYMBOCTM CBOUX COTPYAHUKOB. CTaHAapPTHbIE peKoOMeH4aunm n
nporpamMmMmbl 415 OOUCHBbIX COTPYLAHUKOB He BMOJIHE NOAX0AAT 414 yCA0BUI paboThl B LaHHOM
KOHKPETHOM KOMMNaHNKM, MOCKOJIbKY paboTa cneunasncToB CBA3aHa C BbICOKOM MaTepuasibHON
OTBETCTBEHHOCTbIO, KPU3NCHON KOMMYHUKALMEN N 3HAYNTENIbHLIMU MOCIEACTBUAMWN OT NPUHATBIX
pelwieHmnin. PykoBoanTenb opraHnu3aunm n COTPYAHNKN YNpaBAeHUs MepCoOHasIOM TakK>Ke XOTAT
noay4YnTb 06 bEKTUBHYIO MH(OPMaLMIO O TEKYLLLEEM YPOBHE CTpecca y COTPYAHMKOB, paboTatowmx B
KoMnaHuwn. MNpepaoXuTe naaH nccnefoBaHns 1 NiaH pa3paboTkm obpa3oBaTesIbHOW, TPEHMHIOBOMN
AN VHOAWBWAYANbHOW NPOrpaMMbl, KOToOpas oTBeYasna bbl 3anpocy AaHHOW opraHmn3aumn.

Bonpoc 9
Bann: 30,00

3afaHue rno Tpeky dlpuknagHas counasabHas rncuxosorns». 3To 3a4aHne yYnTbiBaeTCs B pEVITMHFe
rno Tpeky «lpuknagHas counasabHas rncuxosorus» n B pEVITMHFe MenasincTtoB

3apaHue 9.
Read the article and answer questions below. Answers should be given in English.
1. According to the article, what is the difference between acculturation and globalization?

2. Try to find association between motivation for ethno-cultural continuity and acculturation
strategies. Provide examples of ethnic groups that managed to maintain their cultural heritage in
the face of globalization (please use examples that are not mentioned in the article). Provide
arguments to support your choice.

3. The author illustrates the idea of resistance to homogenization by highlighting value differences
between USA and Canada. Can you think of any example when two neighboring societies seek for
differentiation? Please try to explain why it can happen using psychological theories to support your
ideas.

4. Please describe the possible outcomes of globalization in the terms of the acculturation
strategy framework. Please provide some examples based on your own experience or experience of
other people.

5. Can you think of a study involving one of the concepts described in the article? Try to come up
with your own goal of the study, a research question that could be checked empirically and
formulate a hypothesis with the variables that you would study. Please, describe your potential
sample and research methods. Don’t forget to provide expected study results.

Bonpoc 10
Bann: 20,00

3agaHue rno Tpeky dlpukaagHas counasibHas rncuxos0rus». 3710 3agaHune y4nTbiBae€TCA B pel;ITMHI'e
rno Tpeky dlpnknanHasa counasibHas MNcUxosorns» v B peVITVIHFe MenasimcTtoB

3apaHue 10. Case study
As a psychologist, please, comment on this case.
1. Describe and explain what are the main problems and challenges Peter has faced.

2. Explain why a misunderstanding occurred and what is the reason for it?
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3. Create a set of possible solutions which can help Peter to cope with the problem in the most
effective way.
4. What preliminary preparation or instructions (before going to Russia) could have helped Peter
to avoid the difficulties described in the case? Which psychological theories and concepts do
these instructions or preparation programs should rely on?

Please, use social psychological theories in your response. Try to be concise and avoid journalism
and stereotypes in your analysis. Note that your response should be given in English.

Peter is a young American teacher with a USA graduate degree, who was employed for a teacher
assistant position at a primary school in Russia. Open-minded and easy-going, he finds locals very
hospitable and gets on well with most of his colleagues. The only person difficult to communicate
with was his boss, the Director of the school. He was a straight talking old man. From the very day of
employment, Peter noticed that he has been extremely rude and harsh with everyone. Occasionally,
he would allow himself to shout at the employees, and Peter was not an exception. After a few
unpleasant encounters with his boss, Peter decides he cannot bear such humiliation anymore.
Knowing that his other counterparts have been complaining about the boss’s harsh nature, he
proposes them to write a collective complaint letter to the higher authorities from the local
department of education. But his colleagues, who have previously agreed with him, refuse to sign
any letters or even discuss the possibility of filing a complaint. Furthermore, his relationships with
them worsen; he feels that they start avoiding talking to him. For the first time in this country, he
cannot understand the people he is working with.
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